
1

����� 1

����	

1.    ��	
��	���������
	����	������
����������	�
�	�
��������
������������	�	�����
�	���� �����!"��	��
��# 10  �	�

	���"�'���(��'�)� �	���	����*� (I00-I99)(Diseases of the circulatory system) ��?�@����A
��	�@�(���)���
��"�( @B
�C����D�(B�*����D����#@�� @���*�����)D�����E��
�'�D�'��D�D
��#��
�'��(
�'!����������*���F
����'�����	������ GC#

�����H���(��	�@�#(
��
��	���*�!��)D�	����*���
�'�(�(��
 ���� ��(A�'��
� EB!��(������@��?��	����"D!�	F�����EB!��)
 �'�()#
����(A����C������@
����)D�	��F����C��D!�( ����������'!� ��	�)�����	��#��"�����	�������'@���	�'@B
�����
����	�!�( �'���D��	������'�
��(���
)#���	�@�#(
��?��	����*� �'����#���)D��?��	����*�
�'!�@���*�����"��	B!��������� ���#�
����	����"�((�
��D��'��
�(I��#���������(����D!��
�	�����D(� 
�� �'�(�
��D��'���	�#�
�����#*�!������'(�@��(*��� �'����	�@)�J)K�
*���	
���(*�!�
�(I�)�)� �(

��������	�
�
	��
����	���
�
�����������
������������	������������
  (Stesthoscope) 
�,-��
����.�/����0��,-���1���� �
�����23����
 �/�����������44�
��5��������3.��������
��������
�	0�
�������  �16���
 	6�,-�����
�
	��
�
��
6������
���.��
��78�	����������������	��.9��

���8�
,��
��3��
�,��
 :7.����
���.9��

���
�	�����,;��,;����1
8�����	�16�1���13����<�  �16���
���.
��
�	�����9�1���
����=1�
���3���.���
����
���8���  heart murmur  =�
��.���
�����	��.,��
��4���
�	�
�,��
	69��

����
����������� �������
�
	��
=�2����	=�
�
��������
���������������	���

�2�3.��������
�����	������B�
���C6�16,�6�4���5 ������
 �,-��D�2�<  ���
 ��.��0��E
�
�
	��
=�2����	���
�
����89���0��
D�	6�����0�.�FG�F��
����0�  ���
 ��.���H=����
  90�9����4���
FG��4�0����6  90�9��FG�F�4��
  I  
��00�=������.	6�
�
	��
�
��1��9�����
  �16�,-�������

������,J�


����/���2=�=1
�����
B����0	6/��
�����
�,�6�
��
K�� �16,�6�
��
�1������
	��

=�2 ��0��8�������C�:7.���2=�=1
���1����8	6�����D�����0�	������,�6��B�D����0���2���� 0�
,�<�����.
���4���4D��H����C� �������21��69�1� �160��/�����6��=���
�4�1B��
  ��3�=��
�
�4�1������<�



2

��,�6��B9�
����
�
	��
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���4=�2����	  �16�1��0��38�  =�
�/��2�3.�����213.�
��<<�59��M��������	 �16�1��0��38� (Electrocardiogram  and  Electromyogram)  
��0�����H����
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1.2.1  A Transconductance Driven-Right-Leg  Circuit.(Enrique Mario Spinlli, Nolberto H.
Martinez,1999)  �,-�4�2��0��.�D����� �������44��	� Driven-Right-Leg (DRL)  ��3.�1�
��<<�5������=�0����0��.��
�	����<<�5�4���������0�0���1g� (Electromagnetic
Interference, EMI) =�
�/� Transconductance amplifier :7.��,��
4���
4��4��	���
0 (Classic DRL)
�1�����	���0��E�D�	����<<�5������=�0����09����������	���
0���K��,�6��4  1.1

K��,�6��4��.  1.1  �,��
4���
4������213.���<<�59��M�����	���K��6��.0���<<�5�4���	��
�1����1������:�� (Fluorescent light EMI)  =�
 Classic DRL �16  Transconductance DRL
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1.2.2  AC  Coupled  Three  op-amp  Biopotential  Amplifier  with  Active  DC  Suppression. 
(Enrique M.  Spinelli   and  Miguel  Angel  Mayosky, 2000) �,-�4�2��0��.�D��������������
	�
�����
�������������� Half - cell  Biopotential �6������
�1g�=�����4�
�1g�=��91�  �16
�6������
�1g�=��91� ��4�
��������2�9�� :7.�,�6��4���
��	��
��
���� �16��	�����/3.�0=
�
������ (Optocoupler) =�
�����	�,��4������������4��	��
�
�
������0���/�� :7.���	�0������
����
�
��<<�5  80  dB  2��0E�.��������.D� (lower cutoff frequency)  0.1  Hz  ��4�������
��H�
9����9��    ±8 mV  �16��������	����<<�5=�0����0 (common mode rejection ratio, CMRR) 
105 dB

1.2.3   AC  Coupled   Front-End  for  Biopotential  Measurements. (Enrique M.  Spinelli,
Ramon Pallas w Areny  and Miguel  Angel  Mayosky, 2003)  �,-�4�2��0��.�D����� ����D�	��
������ 9������.������� Half - cell  Biopotential  �6������
�1g�=�����4�
�1g�=��91�  �16
�6������
�1g�=��91� ��4�
� �������2�9��  =�
�/���	�  RC network  �,-�  Front-End   ���K��
,�6��4  1.2  �1����������44��	� 0����������
�
  1001  ����  ��4�������
��H�9����9��
���0��  �160����������	����<<�5=�0����0 123  dB  ��.2��0E�.  50  Hz

K��,�6��4��.  1.2  R-C Network  Front - End

1.2.4   AC  Instrumentation  Amplifier for  Bioimpedance  Measurements (R. Pallàs-Areny,
J. G. Webster, 1993)  �,-�4�2��0��.������	��
�
��<<�594=�=�����/�
1  ��3.�1�������
2�7.��:11  Half -cell  Biopotential  �161���<<�5�4������� I :7.��/���	��
�
�
������0��38�
}���,-�����44 =�
������2�,�:
���� ��H��0��4����������2�42H0������
�
��<<�5��3.�2�,
,1
���<<�5��:� �1����������44��	���0�E�������������
2��0�������9��2���. ��.2��0E�.
0.05 w 10  kHz  =�
���90��,1�.
��,1� �16���������
�
=�0����0 (Common mode gain)  1�
1�  23  dB/dec.
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1.2.5  Common Mode Rejection Ratio in Differentia Amplifies (R. Pallàs-Areny, J. G.
Webster, 1991)  �,-�4�2��0��.�D����� ����
�2��6� �����������	����<<�5=�0����0  	����
	��
�
2��0�������(differential amplifier, DA) ��.�/���,��0,�������
� �16	����	��
�
�
���
���0���/�� (Instrumentation Amplifier, I.A) ��.�/���,��0,� 3 ��� �16������0�����.�04��5   ��
��5���,��0,�0����������
�
2��0������� (differential gain) 0�2���,-������  �16��������
�
�
=�0����0 (common mode gain)  :7.��1��.9���,-�9,��0��C��

1.2.6   Two-electrode low supply voltage  electrocardiogram signal amplifier (D. Dobrev,
2004)  �,-�4�2��0��.�D�������	��
�
��<<�59��M�����	�44 2 ��8� =�
�/���1��	��
9��1�8
�
���.
�  3 =�1�  :7.�����44=�
�/���,��0,� �����������16�����g4,�6	H��.� I 9, �1������ �4
4��	�������������	����<<�=�0����0��� �16��0��E��4������=�0����09��  ±1  =�1�   ���
����
��H�9����  2  =�1� 
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��<<�594=�=�����:�
1 ��3.����213.���<<�5 9�
�M� �������	 �16�1��0��38�

1.3.2  ��3.�����44�16�������	��
�
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1 ��3.����213.���<<�59��M�
�������	 �16 �1��0��38�
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1.4.1  B7�C��16����44��	��
�
��<<�594=�=�����:�
1 ��3.����213.���<<�59��M�
�������	 �16�1��0��38�

�����B7�C��4���0���<<�5�4�������������<<�594=�=�����/�
1 ��.�D�2�<�
�� 2
���� 23� ��<<�5�4�����.��
�	����<<�5=�0����0 �16��<<�5������9����  �����1�
��<<�5�4�����.��
�	����<<�5=�0����0 =�
�/��
�������
.0���������	����<<�5=�0����0
(CMRR) �����	� :7.�2�� CMRR 	6�,-�,�
K�2�������42��2��0�
��1�����������������.K�2��.
��������	� ��8�23� E������������0�2���
��1��0�� 2�� CMRR 	61�1� �16	6�,-�,�
K�2=�

�����42�����������
�
�1�������K�2��.��7.������	�
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,��42�����������
�
�1���������	� �D������	�0�2��0��0��E������D�	��������9����9��0��
�78�

1.4.2  ����44�16�������	��
�
��<<�594=�=�����:�
1 ��3.����213.���<<�59��M�
�������	�16�1��0��38�  ��.0�2H5�04��
�����8

� ���������
�
,�60�5 200-1,000 ���� (46 w 60  dB)
� ��4����2��0E�. ��/���  0.05  E7�  500 Hz
� ,M���������
.0��������<<�5�����������3.��	��������2�7.��:11 
� 0����������	����<<�5=�0����0 (CMRR) 0������  100  dB

� 2��0������������������0������   > 5  MΩ
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1.5.1  B7�C�2H5�04��
 �16����,�6��4���� I  ��<<�594=�=�����/�
1��.�/�������
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1.5.2  B7�C�����,�6��4���� I �����	��
�
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1
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1.6.1  ��0��E������2�3.�����213.���<<�59��M��������	�16�1��0��38�  ��.0�2H5K�� ��2�E��
�/�K�
��,�6��B
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 	������,�6��B
1.6.3  ��0��E���	�16�
�
	��
=�2����	�438����������,J�
 ������.	6������	������
 ����/�.
�

/�<�
�
	��
��
.0��
0  �D����1������<���
/��
�������,J�
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